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T 0 1 2
1 1,000 1,005 1,010
2 1.414 1.418 1,421
3 1,732 1,735 1,738
4 2 2.002 2,005
o 2.236 2.238 2.241
6 2.449 2.452 2.454
7 2.646 | 2.648 | 2,650
8 2.828 | 2.830 | 2,832
@® 1414 @ -1.732 ® 1.732
@ -2.449 ® 2.449
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D 5.93

@ 7.56

® 7.50

@ 7.40

® 6.19



4. [a, b, ] = (a=b)(a—c)BF T W\, [a, b, c]-[b, a, ] & NTEHSIH,
(xa+yb+zc)(pa+qgb+rc) Otk ol W, x+y+z+p+qg+r 2
429

® -1 @ 3 ® 0 @ 2 ® -2



5. (x-2)x>-3(x-2)x-10(x-2) & AFEdl5IH?

D (x-2)(x-5)(x+2) @ (x=2)(x+5)(x+2)
® (x=2)(x=5)(x+3) @ (x=2)(x+5)(x-2)
® (x=2)(x+5)(x-3)
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